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Question 1.Select the related word/letters/numbers from the given alternatives:
3 T fawedl & ¥ JalRid 2sg/s1erl/se ol giu|
Length:Meter::Power:?

TS : e :: fagua wfd : 2
Options:

1) Calories

2) Degree

sl

3) Watt

dic
4) Kilogram
faretamy

Correct Answer: Watt
dqre

Candidate Answer: Watt
dqre

Question 2.Select the related word/letters/numbers from the given alternatives:
33 T el & ¥ TafRid wsg/1erl/Ren &1 gful

ZXVT:YWUS::RPNL:?

Options:

1) XVTS

2) TSQP

3) SQPM

4) QOMK
Correct Answer: QOMK
Candidate Answer: QOMK

Question 3.Select the related word/letters/numbers from the given alternatives:
130 T fasedl & 4 JalRId <eg/31&Ri/e oI gHu

42:20::64:?

Options:

1)31

2)32

3)33

4) 34
Correct Answer: 31
Candidate Answer: 31

Question 4.

For the following questions

Find the odd words/letter/number from the given alternatives:

33 U famedt #f ¥ e/ 31eR/ T= Bifey ?
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Options:
1)A

2)U
3)T

4)0
Correct Answer: T
Candidate Answer: T

Question 5.

For the following questions
Find the odd words/letter/number from the given alternatives:

o0 7T et # 9 Xea/ efaR/ T BT ?
Options:

1) January

ST

2) April

3ot

3) July

4) May

Correct Answer: April

Candidate Answer: July

Question 6.

For the following questions

Find the odd words/letter/number from the given alternatives:
2 Tu Ryt B ¥ Weay sreR/ T BifeW ?

Options:

1) 28-21

2) 31-38

3) 45-52

4) 64-71
Correct Answer: 28-21
Candidate Answer: 28-21

Question 7.Arrange the following words as per order in the dictionary:

FAfRad Xreal B! eI H fGT T HH & IR G Hifoig|
1. Zeal 2.Zebra 3.Zygote 4.Zinc 5.Zest

Options:

1)1,2,53,4

2)1,2,54,3

3)1,524,3

4)1,5234
Correct Answer: 1,2,5,4,3
Candidate Answer: 1,2,5,4,3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series:

P A R man g, o e ue g € | Ru TN Aot & § 95 W6l fawey 9T S g o - Y |

ALZ,C)V,EHR,GFN,?
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Options:
1) D)

2) IEK
3) IDJ

4) JEK
Correct Answer: IDJ
Candidate Answer: IDJ]

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series:

O Y e man g, ford ue ug qw § | AU T fawent B ¥ 9% I8t fawew gie St o/ d &Y g Y |

8,24,12,?,18,54
Options:
1) 48

2) 36
3)29

4) 21
Correct Answer: 36
Candidate Answer: 36

Question 10.Chanda is the wife of Bharat. Mohan is the son of Chanda. Ashish is the brother of Bharat and father of Dhruv. How is Mohan related to Dhruv?

g1, WRA B UG § | HE Il HIGA T | SR R BT U 3R yd T U § | g o1 §a | Tt Fang ?
Options:
1) Sister

g
2) Cousin

3) Brother

4) Mother
|t
Correct Answer: Cousin

EERE

Candidate Answer: Cousin

Question 11.A,B,C,D,E,F are sitting on the round table with equal distances. F is sitting opposite to E and between A and D. C is sitting right side of E and opposite to
A. Who are the neighbours of A?

%,%,D,E,Fwwaﬁgﬁmrhaﬂawé%% | F, E® Sl g IR A 3R D & dia H <6181, C, E F cifeit 3R 3R A & Sieb T FoT1 1. A & T HH-H
?

Options:
1) Fand D
F iR D
2)Eand F
Eand F
3)Eand C
E3fRC
4)BandF
B3R F

Correct Answer: B and F
B 3RF

Candidate Answer: B and F
B3RF

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
fafaRad fawedt & & 98 e g S 3T 70 Xeg & 31&RT HT TN @b AT ST S Aol :

CONCENTRATION
Options:

1) CONCERN
2) CONTAINER
3) CONCERT

4) CENTRAL
Correct Answer: CENTRAL
Candidate Answer: CENTRAL
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Question 13.If 'WZB' stands for 'DAY', how will you code 'MONDAY'?
T 'WZB' F1S & 'DAY' I, T 'MONDAY' &I %18 T BT ?

Options:
1) NLMWZB

2) PLOWZB
3) NMLWZB

4) PQRWZB
Correct Answer: NLMWZB
Candidate Answer: NLMWZB

Question 14.If '+' means '/', /' means '-','-" means X', 'x' means '+', then 24+8/2-6x6=?

R+ J R A, Y R AL - MR X T, X W I+ W B, A 24+8/2-6x6=?
Options:

1)-10

2)-3

3)12

4) 21
Correct Answer: -3
Candidate Answer: -3

Question 15.In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

P THioRu T T yoreh 3 59 T T ¥ 1 3 yR W U T fwedt 7 § Ot IR g fafaw 2

7x6x8=678
8x9x7=987
6x5x7=567
5x4x6=?

Options:
1) 456
2) 564
3) 645

4) 654
Correct Answer: 456
Candidate Answer: 456

Question 16.Select the missing number from the given alternatives:

2 e et § § e 91d i ?

7 9

8 9 ¢

4 9 6

60 90 | 70
Options: |
1)9
2)8
3)7
4)6

Correct Answer: 8
Candidate Answer: 8

Question 17.A man starts from a point, walks 5 km towards East, turns right and walks 3 km, turns right again and walks. What is the direction he is facing now?

FIE TN S g F TeT SR b gd @t 8RR 5 3.1, = 8, fohR a1 g 3 bl aadn 7, U7 it goa fhr 9aa1 81 3@ Sud §W & A Syl e @ 2
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Options:
1) North

3R

2) South

g

3) West

4) South-west
Sfer-ufEw

Correct Answer: West

Candidate Answer: West

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement 1: All animals are four-footed.

2. Dog has two legs.

Conclusion I:Dog is not an animal.

II. Dog is an animal.

fufiRad ue & e a1 <) gaaen 33 T §, RBiges om &) s d/Arany, 1 3R 11 Ao T €1 3 faR 7T § & aador 9 § 1R 98 9Me: det § i Ui
BT 811 3! Fufa w1 § % w0 aaqen & @ wF-a1 Ry S0 9 96 e s/mmadr R s asdar g ?
BT LT STHaR! Bt IR i Bt ¢

IL AP A CFERNR |

frepd 1. T STHER T R

2. AT AAR g

Options:

1) If only I follows

PadI TS

2) If only II follows

Pad I TeT

3) If neither I nor II follows

TJIW eI

4) If both I and II follow

1 3R 11 31 el §

Correct Answer: If only I follows

PaAI TR

Candidate Answer: If only I follows

Fad 1T

Question 19.In the give cubes, which colour is opposite to purple?

ST S A P IR 2

Purple Blua Red Green

Red Rod Purple Purple
Blue Yellow Green Orange

Options:
1) Violet

2) Red
3) Yellow

4) Blue
Correct Answer: Yellow
Candidate Answer: Yellow

Question 20.Which of the following diagrams correctly represents elephants, wolves, animals?

Fafafed & J S Mg g1, i), STHaR! &1 98)-Ue! g HRar g ?
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21/09/2016

Options:
1)

N

)

e

3)

L

4)

p TG *
A S

Correct Answer:

Candidate Answer:

Staff Selection Commision

Question 21.which answer figure will complete the pattern in the question figure?

PH-T FR-3MPlA UH-3MHA B yfaed (T & @ B3 2

X
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Options:
1)

4)
("
Correct Answer:

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

TS IR SMpTadl F A I SMpla Bl g Rred U mpfa ARG € 1

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 7127
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Options:

1)

L

2)
%
N

3)

4)

Correct Answer:
A
N

Candidate Answer:
%
N

Question 23.A piece of paper is folded and cut as shown below in the question fifgures. From the given answer figures, indicate how it will appear when opened.

T2 U= 3l H ATy 3gER BITS B HIgHR Plea qUT Tia & §18 98 g IR Mpla o s a2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 8/27
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Options:
1)
O an
o O
O (o)
2)
o%o
o O
050
3)

Correct Answer:

0.0 O

o0
o
o

o]
0°°0

Candidate Answer:

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?
Ife; T U7 B MN 38T TR 1 ST A €t TS IR G | I B 31det Uy St 1 Tet wfafars ghft 2

MI-----------I.N

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 927



21/09/2016 Staff Selection Commision

Options:
1)

2)

3)

4

22w

Correct Answer:

o

Candidate Answer:

o
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Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'A' can be represented by 01, 13, etc., and 'S' can
be represented by 55, 66, etc. Similarly you have to identify the set for the word 'BOTH'

fafiiad uy & el § Y e Sor-ggg, 31erl & <1 9l gRI <XT MU €, S b = w7 ) airoggl & €1 ieg 1 % Faw 3R Uy Bl G0 ¥ 4 db A R,
3R 3MHGI & 5 T 9 qF, 7 AT T TP AR Bl UgQ IUDI Ul 3R a1g T T TS GRI =TT I Thell g1 37 ¥ T 3R Bl UGS IUB! Ul 3R a1g H
TP T GIRT SR S Iohal ¢ | SETe0T & [T A &1 01, 13 3G GRT &I S THhell § TU1'S' B 55, 66 31e GRT T T 8 | S0 TRE W MUD! T T s
'BOTH' ¥ forw g &l ugam 2|

MATRIX | MATRIX 11
g (1] 2| 3|4 5|6 7| 8|9
O|F |A| N O] I S|S|E|H| BT
11 O F A N 6| H| 5 E|T |B
2 A N O I F 7|B|T| S|E |H
3.0 F I N A S|E|H|T|BJ|S
4 I NI|1]| A 0 9(T|S|E|H|B
Options:
1) 69,67,68,59
2) 75,22,76,79
3) 88,30,85,86
4) 58,02,68,65
Correct Answer: 75,22,76,79
Candidate Answer: 75,22,76,79
Question 26.A 'Market Economy' is one which
' SISIR ST ' IE Bl § o -
Options:
1) is controlled by the Government
PR gRI g
2) is free from the Government control
WHR 07 ¥ gad g
3) in influenced by international market forces
St SR 1 ifidt & yuifdd g
4) All of these
wf wd ¥
Correct Answer: is free from the Government control
WBHRT =07 9§ gad 71
Candidate Answer: in influenced by international market forces
RIS SR @t Wil ¥ i 8t

Question 27.The novelist, poet and critic of which language has been conferred with Jnanpith Award for 2015?

Y 2015 BT UG [REHR HH-J UV F STIRSR, B 3R seiass ol fGar mn g 2
Options:

1) Bengali

e

2) Telugu

3) Odia

[S{ER

4) Gujarati

Correct Answer: Gujarati

Candidate Answer: Gujarati

Question 28.The 'Cabinet Mission' of 1946 was led by

1946 & ' Biae A=A ' &1 A fFaes gRI fawan ma 2

Options:
1) Lord Linlithgow
S femfermy

2) Lord Mountbatten
IS

3) Sir Pethic Lawrence

W IRF TR

4) Sir Mountford

WARG<HIS

Correct Answer: Sir Pethic Lawrence
W

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 11/27
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Candidate Answer: Sir Pethic Lawrence
W IR®

Question 29.Mount Abu is a hill station located in ranges.

TR 311, S T Ui ©Id g, M U gdd sga R Ry g 2
Options:

1) Vindhya

fdem

2) Satpuda

dgeT
3) Aravalli
SRITCt

4) Sahyadri
SERIE
Correct Answer: Aravalli

Candidate Answer: Aravalli

Question 30.The only perennial river in Peninsular India is

gl HRA B THHE TREART T P-4 § ?
Options:
1) Godavari

2) Kaveri
Fad

3) Krishna

Eull
4) Bhima
e

Correct Answer: Kaveri

Candidate Answer: Kaveri

Question 31.Which one of the following forms the base of vegetable fibres?

71 & Q BH Il BRR BT YR T ?
Options:
1) Cellulose

2) Proteins
PiGic]

3) Fats
Bl
4) Oils
aq

Correct Answer: Cellulose

Candidate Answer: Cellulose

Question 32.A particle is thrown vertically upward. When it reaches the highest point, it has

T et BT B FHeafeR JHR BT SR el FMaT 8 SR TF I GoY S farg I Ugd Sl § al Il
Options:

1) a downward acceleration

@ 2 3R g g

2) an upward acceleration

RO SR BT R el 8

3) a downward velocity

AR B AR EATR

4) a horizontal velocity
g g

Correct Answer: a downward acceleration

RO AR B R BT

Candidate Answer: an upward acceleration
TRUT IR Bt 3R

Question 33.CPU Scheduler is also known as .

T g, RIsyer &1 3R g 719 § ST S g 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 12/27
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Options:

1) Job Scheduler
EICAREIGN

2) Resource Scheduler

3) Short-term Scheduler
- RIsger

4) Process Scheduler

Correct Answer: Short-term Scheduler
- RIegerR
Candidate Answer: Process Scheduler

T RIsTeR

Question 34.During fermentation of sugar, the compound which is always formed is

YahR & fhva & SR BIH-T1 Afe gH ST 8 ?
Options:

1) Methyl Alcohol

AR Teplga

2) Ethyl Alcohol

JUE Yeblga

3) Acetic Acid
ST

4) Ethylene

TRy

Correct Answer: Ethyl Alcohol

Candidate Answer: Methyl Alcohol
B IR GRYEA |

Question 35.Which type of democracy do we follow in India?

YR H 3 TSR &1 il § ?
Options:
1) Direct
&l
2) Presidential
AT BT
3) Representative
2l
4) Dictatorship

Correct Answer: Representative
)

Candidqte Answer: Representative
)

Question 36.Social activist Irom Chanu Sharmila, who has recently announced to end 16-year old hunger strike belongs to which State ?

ST BRIdAT S I fTe, S g1a & # oot 16 o R R ssa1d TH B, HH-9 AT B E ?
Options:
1) Mizoram

2) 'Manipur

3) Uttar Pradesh

IR TS

4) Maharashtra

HERSG

Correct Answer: Manipur

Candidate Answer: Manipur

Question 37.The quality or tone of a musical sound produced by a stringed instrument depends on

¥t IR a1 9T o § T g i B e B oraan e w Rk it g 2
Options:

1) frequency of vibration

SO DI

2) length of the strings in the instrument
I T4 § dRI Bt

3) Amplitude of vibration

U BT SHTH

4) waveform of the sound

@ B T BT FY

Correct Answer: waveform of the sound
@ B T BT Y

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 13/27
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(;andidate Answer: frequency of vibration
S BT g

Question 38.What did Gandhiji meant by 'Sarvodaya'?

TR 1 ' Tated ' & o Rt o ?
Options:
1) Non-violence

2) Upliftment of untouchables or dalits
f TR g fordl &1 S
3) The birth of a new society based on ethical values
AT T W SR T U FAI BT For
4) Satyagraha
RRIPE
Correct Answer: The birth of a new society based on ethical values
e Teut WR SMed Tb T TS BT Jord
Candidate Answer: Upliftment of untouchables or dalits

gt 3R il o1 I
Question 39.When does solar eclipse take place ?

T HE BT B ?

Options:

1) When the sun is between the moon and earth

e G, =g R gedt % o gt e

2) When the earth is between the moon and sun

e gealt, T 3R gd & ot Bl ©

3) When the moon is between the sun and earth

9 IS, G SR g & o § g e

4) When the moon does not lie on the line joining the sun and earth
ST 5T, T SR et Bl S Tl a1 IR A g §

Correct Answer: When the moon is between the sun and earth
9 o=, W Ryt F fa H g

Candidate Answer: When the moon is between the sun and earth

9 o=, W R A s Fa H g

Question 40.Strait of Gibraltar connects which of the following?

MsiTeer Sefemeq e b B SiedT @ ?

Options:

1) Red Sea - Mediterranean Sea

ol IR - YHS IR

2) Red Sea - Arabian Sea

A IR - 3Rd IR

3) Atlantic Ocean - Mediterranean Sea

Tedfies HERINR - YA AR

4) Mediterranean Sea - Black Sea

HHY AR - DIl IR

Correct Answer: Atlantic Ocean - Mediterranean Sea

TeAIted AENIIR - YIS AR

Candidate Answer: Atlantic Ocean - Mediterranean Sea
HENR - HHY AR

Question 41.The largest solar power plant in India is located at

HRA P Tog Fo7 IR ViR T4 Pgl YT @ ?
Options:

1) Nagercoil

AR 1A

2) Jaisalmer

3) Madhapur

HIYYR
4) Rann of Kutch
HTd P 0T

Correct Answer: Madhapur

HIYYR
Candidate Answer: Nagercoil
AR DI

Question 42.Regional Rural Banks are sponsored by

&g orir S b gRI AT B © 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87
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Options:
1) Nationalised Commercial Bank

2) Reserve Bank of India

YR ford S

3) State Bank of India

we S 3t sfigar

4) Government of India

HRI TRHR

Correct Answer: Nationalised Commercial Bank

Candidate Answer: Reserve Bank of India

HRAT Rord S

Question 43.Removal of carbon particles from air involves the principle of

ARy H F Pre b U1 (b1 F oG HH-3 Rigr &1 v o S @ 2
Options:
1) Precipitation

2) Filteration

3) Electrophoresis

Jgd HU1 T

4) Sedimentation

ECRICT)

Correct Answer: Electrophoresis
g P TR

Candidate Answer: Electrophoresis
g P T

Question 44.Which light is least effective in photosynthesis?

YHTR-GRAT & PHIH-T1 YT T HH Tt § 2
Options:

1) Blue light

et v

2) Green light

B UPRI

3) Red light

el UhIRT

4) Sunlight

EREARtEaN

Correct Answer: Green light
B UPRI

Candidate Answer: Green light
B UPRI

Question 45.Which of the following acts as best adsorbent?

AR 7 ¥ HH-97 T 3resT SRS § 2
Options:
1) Charcoal
PG DI
2) Activated Charcoal
31
3) Activated Coconut Charcoal
TIRTA BB B
4) Carbon black
PIa Hoid

Correct Answer: Activated Coconut Charcoal

TfesRd TR w1 Haa

Candidate Answer: Carbon black
PTa HoTd

Question 46.The maximum fixation of solar energy is done by

IR Grolt 1 3B aH AR IBIBIT fbgs GRIBAT S ?
Options:
1) Bacteria

2) Protozoa
37
3) Fungi
4) Green plants
W
Correct Answer: Green plants

W

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 15/27
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Candidate Answer: Green plants

Question 47.Harsha moved his capital from to

IO B 7 U TS q YRR Bt |
Options:

1) Thanesar , Kanauj

YRR, Bl

2) Delhi , Deogiri

3) Kamboj , Kanauj

’

4) Valabhi , Delhi

Correct Answer: Thanesar , Kanauj
YRR, FiIl

Candidate Answer: [ NOT ANSWERED ]

Question 48.Who is the Chief Economic Advisor to the Government of India?

HRA TWHR P & 3ffes FAGHR B ¢ ?
Options:

1) Raghu Ram Rajan

TERH ST

2) Arvind Subramanian

BSCRRLER
3) Rajiv Mahirishi
ofta weff

4) Arvind Pangariya
SRfa= TAIRAT

Correct Answer: Arvind Subramanian
ERCEASCRELE]
Candidate Answer: Arvind Subramanian

3RIA YgHuT
Question 49.Which type of foreign investment is considered as unsafe?

o UR o1 A= yer Fa=r sRRfar o ST 8 2
Options:
1) Foreign Direct Investment (FDI)

faa=h yaer A
(1. R.eE)

2) Portfolio investment

3) NRI deposits

T, 3R, 37S. S

4) External commercial borrowing
BYR

Correct Answer: Portfolio investment

Candidate Answer: Portfolio investment

Question 50.The Chairman of the Drafting Committee of the Constituent Assembly of India was

URT P GAYF THT B IRy T F Sreges HH A 2
Options:
1) K.M. Munshi

&. wm. gt

2) D.P. Khaitan

SR RG]

3) Dr. B.R. Ambedkar

STl R, srasaR
4) T.T. Krishnamachari
il

Correct Answer: Dr. B.R. Ambedkar

3. 3R,

Candidate Answer: Dr. B.R. Ambedkar
S 3R,

Question 51.A can do 1/3rd of a work in 5 days and B can do 2/5th of this work in 10 days. Both A and B, together can do the work in

A 58t B 7 1/3 URT 5 37 & R Teha1 § SR B I 8 1 2/5 YT 10 TR H SR That 21 A SIR B S T H I B & fbe- R A R g © 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 16/27
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Options:
1)

7 g days

7ifem
2)
E»i;days

g2 fea
3)
3
9 Sdays

92 e

4) 10 days
10 &=

Correct Answer:

3
9 2 days
32

A

Candidate Answer: [ NOT ANSWERED ]

Question 52.The base area of a right pyramid is 57 sq. units and height is 10 units. Then the volume of the pyramid is

TF T RIS & a0 &1 8 d 57 37 gie § iR $a18 10 gfic 71 RRiftrs o smaeH fham g 2
Options:
1) 190 c. units

190 T gfe

2) 380 c.units

380 ¥ g

3) 540 c.units

540 T g

4) 570 c.units
570 ¥ g

Correct Answer: 190 c. units

190 ¥ gfHT

Candidate Answer: [ NOT ANSWERED ]

Question 53.The marked price of a ceiling fan is Rs. 1200 and the shopkeeper allows a discount of 5 % on it. Then selling price of the fan is

foeit U P 3ifhd e Rs. 1200 § 3R GHMER SU W 5% $I Fe <l 5| TW F1 ol e fban g 2
Options:
1) Rs. 1410

2) Rs. 1400
3) Rs. 1140

4) Rs. 1104
Correct Answer: Rs. 1140
Candidate Answer: Rs. 1140

Question 54.If 35% of A's income is equal to 25% of B's income, then the ratio of A's income to B's income is
MG A B 35% ST B BT 25% 31T & SRR &, A1 A AR B ST 3110 HT SIUH RTR 2

Options:

1)7:5

2) 5.7

3)4:7

4)4:3
Correct Answer: 5:7
Candidate Answer: [ NOT ANSWERED ]

Question 55.A and B invest Rs. 3000 and Rs. 2400 respectively in a business. If after one year there is a loss of Rs. 720, how much loss will B bear? (Loss or Profit is
in proportion to their investments)

A&ﬁwﬁﬁgﬂmﬁm:rz& 3000 3R Rs. 2400 T A% #3d 21 TS U 9 &g Rs. 720 B 81 Bt B, <Y B & fbeit 217 8F1t 2 ( 219 a1 amvd 34 A= &
SIUITHE )
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Options:
1) Rs. 72

2) Rs. 320
3) Rs..400

4) Rs. 360
Correct Answer: Rs. 320
Candidate Answer: [ NOT ANSWERED ]

Question 56.

6 % % of 1600 + 12 % % of 800 equals

5%% 0f1600+12%% of 800 TEFE® =T &7

Options:
1) 100

2) 200
3) 300

4) 400
Correct Answer: 200
Candidate Answer: 300

Question 57.At an average of 80 km/hr Shatabdi Express reaches Ranchi from Kolkata in 7 hrs. Then the distance between Kolkata and Ranchi is

80 fas. 7. /aveT @t S TifY T 21T} UraU dicemTar et 7 9 F Uge! 8, Y dicebran SR et & g fra gl g 2

Options:
1) 560 Km
560 fo. .
2) 506 Km
506 fas. .
3) 560 m
560 T,

4) 650 m
650 .

Correct Answer: 560 Km

560 fob 1.

Candidate Answer: 560 m
560 .

Question 58.If a3- b3 =56anda - b = 2 then what is the value of a2 + b2 ?

Tfd a3 - b3 =56 3R a- b = 2 8, d a2 + b2 &I A T &I ?
Options:

1) 12

2) 20

3) 28

4) 32
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

Question 59.

1
If x*- 3x + 1 =0, (x20), then the value of x + = is
x

TE «*-3x+1=0, (x20), AT x+ 1 &7 A T 2
P

Options:
1)1

2)0
3)3

4)2
Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]
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Question 60.X and Y are the mid points of sides AB and AC of a triangle ABC. If BC+XY=12 units, then BC-XY is

X 3R Y Bryst ABC 3t YaTTE AB 3R AC & Ted famg §1 afg BC+XY = 12 gfe Y, @ BC-XY fam gfie & 2
Options:

1) 8 units

8 gfeH

2) 4 units

4 gy

3) 6 units

6 gHcH

4) 2 units

2 gea

Correct Answer: 4 units

4 gfHcy

<

Candidate Answer: [ NOT ANSWERED ]

Question 61.The length of the base of an isosceles triangle is 2x-2y+4z, and its perimeter is 4x-2y+6z. Then the length of each of the equal sides is

e, U THGETg BIYS & SMYUR B THaTS 2x-2y-+4z BT 3R SUHT URAT 4x-2y+62 B, T UDD THYST B! TS ot g ?
Options:
1) x+y

2) x+y+z
3) 2(x+y)

4) x+z
Correct Answer: x+z
Candidate Answer: [ NOT ANSWERED ]

Question 62.

If 8 =0, be an acute angle, then the value of 8 in degrees satisfying

CosB — 3 CosB + 2
5in%

=1is

Al 650,06 T FIOTE, AT M =1 T T T 6 T HIA Tt 1547 &7 &7
5in%g

Options:
1) 90°
2) 30°
3) 45°

4) 60°
Correct Answer: 60°
Candidate Answer: [ NOT ANSWERED ]

Question 63.

Ifthenumhers\B/? 5 \4/5 . 6 25

are armanged in ascending order, then the right arrangement is

afg weg3f 1/9,120,V25, &1 3Rfe a1 A 1@ e, e
AT T §ITar?

Options:
1)

V25 <Vz20 < Vo

2)

V9 < %20 < V25

3)
V20 < V25 < V9

4

Y25 = ¥9 < VY20
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Correct Answer:
Y25 < Vo9 < V20
Candidate Answer: [ NOT ANSWERED ]

Question 64.Visitors to a show were charged Rs. 15 each on the first day, Rs. 7.50 on the second day, Rs. 2.50 on the third day and total attendance on three days
were in the ratio 2:5:13 respectively. The average charge per person for the entire three days is

TS X F g A uga T Ul Sfd Rs. 15, TR T 1fd &afdd Rs. 7.50, dR faF Rs. 2.50 99 fbw T iR off faf bt pa Sufufar oo 2:5:13 & orqura & ot |
R dF o ¥ forg ufa safe oirad ayge fra =03 ot »

Options:

1)Rs. 5

2) Rs. 5.50

3)Rs. 6

4) Rs. 7
Correct Answer: Rs. 5
Candidate Answer: [ NOT ANSWERED ]

Question 65.
+ 2+
If 2+a 3 2+b + 5 =4 ,then the value of
a b 3
ab+bc+eca |
Sl e Sveii g
abc

2+ 2+b 2+ b+bc+
e E+ S04 T = 4,0 ST i e 4 7

Options:
1)2

2)1
3)0

4) >
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 66.

1 1 1
fx+y+z=1, — + — + — =1andxyz=-1, then
X V' z

X2+ y3+ 2% isequalto

A x+y+z=12+24 2= 1 diRuyz=—1,@ 20+ y3 4+ 22 T AW w2

Options:
1)-1

2)1

3)-2

4)2

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

Question 67.In APQR, L and M are two points on the sides PQ and PR respectively such that LM II QR. If PL=2cm; LQ=6cm and PM=1.5 cm, then MR in cm is

In APQR & L 3TR M Yo PQ 3R PR TR HN: <1 fiig SHUHR € fF LM 11 QR §1 TfE PL=2 A1, LQ=6 V.7, 3k PM=1.5 T.7f. E1 MR T J.7ft. gFmr 2
Options:
1)05

2) 4.5
3)9

4)8
Correct Answer: 4.5
Candidate Answer: [ NOT ANSWERED ]
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Question 68.The length of the radius of a circle with centre O is 5 cm and the length of the chord AB is 8 cm. The distance of the chord AB from the point O is

0 %% 91 g ! e &t T 5 .t B iR Sffar AB & oS 8 Al §1 ST AB BT 0 A g bt B 2
Options:

1)2cm

2 9.t

2)3cm

3 Q.

3)4cm

494

4) 15cm

15 9.9

Correct Answer: 3 cm

3 Q.

Candidate Answer: 3 cm

3q.

Question 69.The upper part of a tree broke at a certain height makes an angle of 60 ° with the ground at a distance of 10 m. from its feet. The original height of the
tree was

PO HITS R & BT U T 30 U7E I 10 1. F g8 TR STH & 1Y 60° BT HI0T ST 8 | & BT T Tharg et &t ?
Options:

1) 20V3 m.

20v3 .

2) 10V3 m.

10v3 .

3) 10(2+V3) m.

10(2+v3) T,

4) 10(2-v3) m.

10(2-v3) |,

Correct Answer: 10(2+V3) m.
10(2+v3) 1.

Candidate Answer: [ NOT ANSWERED ]

Question 70.What would be the compound interest of Rs. 25000 for 2 yrs. at 5% per annum

5% T TR TR Rs. 25000 T 2 TY BT Thqlg S fhaT ST 2
Options:
1) 2500

2) 2562.5
3) 2425.25

4) 5512.5
Correct Answer: 2562.5
Candidate Answer: [ NOT ANSWERED ]

Question 71.

1
The value of Cotl7° (Cot73° Cos?22° + —> is
Cot17? Sec?p8"

L )& AT FT R

cot 17°(cot73°cos?22°+ ————
cot 17°5ec’68

Options:
1)0

2)1
3)2

4) V3
Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 72.Study the following histogram of data related to literate people of different age groups

faftr=T 3mg o & Ter ANl @ TrafRAd SRt W snuid FEfifed Reere 1 sieqa Fifve 3R Uzl & Iar v

L
Total number of literate people in the age group 15 to 45 years is

15 ¥ 45 99 & g 97 F WeR AN B T a1 B 2
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Options:
1) 2800

2) 3700
3) 4050

4) 2350
Correct Answer: 3700
Candidate Answer: 3700

Question 73.Study the following histogram of data related to literate people of different age groups

faftr amg vl & WeR ARl O TEfg STHER W sud iR REerIs @1 sieree Fifve 3R U=l & Iar i

L
Number of people literate in the age group of 20 to 35 years is

20 9 35 ¥ & g oFf & Wer ANt Bt e fpat 8 2
Options:
1) 2050

2) 1250
3) 2150

4) 1700
Correct Answer: 2050
Candidate Answer: 2050

Question 74.Study the following histogram of data related to literate people of different age groups
=T 3mg i & Wer AR WET SHBRT TR SMeRd FEfiRid REERIE 1 siequ B 3R U= & IaR i

L
Percentage of the literate people in the age group 30-45 years is

30 9 45 a9 & 31g o & TR ANl b1 wiawd e § 2
Options:

1) 39%

2) 33.33%

3) 46.25%

4) 66.66%

Correct Answer: 33.33%
Candidate Answer: 33.33%

Question 75.Study the following histogram of data related to literate people of different age groups

faftr=T amg o & Wer ANl ¥ TrafRAId SeRt W 3neid FEfifed REerIe 1 sieq FivE 3R Uzl & Iar v

L
Ratio of literate people in the age group of 20-35 years to that in the age group of 30-45 years is

20 9 35 a9 & g ol @R 30 F 45 T & 3Mg avf F WeR AN BT U b ?
Options:
1) 40:20

2) 27:41
3) 41:27

4) 42:26
Correct Answer: 41:27
Candidate Answer: 41:27

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

PROFLIGATE
Options:

1) TALKATIVE

2) INTELLIGENT

3) UNCONVENTIONAL
4) WASTEFUL

Correct Answer: WASTEFUL
Candidate Answer: [ NOT ANSWERED ]

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDk=&appid=1a4fff78943b24af40c79deccf09bb87 22/27



21/09/2016 Staff Selection Commision

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

CONTEMPLATIVE

Options:

1) WISTFUL

2) UNREFLECTIVE

3) NUMBED

4) AROUSED

Correct Answer: UNREFLECTIVE

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) RECONAISSANCE

2) RECCONAISANCE

3) RECONNAISSANCE

4) RECONNAISANCE

Correct Answer: RECONNAISSANCE

Candidate Answer: RECONNAISANCE

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

One (A) / should keep (B) / his word. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

If you turn the corner, (A) / you will found a house (B) / built of stone. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

His appearance bears (A) / a striking resemblance (B) / to your cousin. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The director congratulated Mr. Varma his success.
Options:

1) on

2) for

3)at

4) about

Correct Answer: on

Candidate Answer: on

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The boys were ______ to hear that we were going to build a bridge.
Options:

1) delight

2) delights

3) delighted

4) delighting

Correct Answer: delighted
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Candidate Answer: delighted

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The revolting players and the game's administrators held discussions to resolve the payment dispute.
Options:

1) unnecessary

2) obligatory

3) preliminary

4) silent

Correct Answer: preliminary
Candidate Answer: unnecessary

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Wild goose chase

Options:

1) An admirable enterprise

2) An honest effort

3) A foolish, unprofitable adventure
4) A powerful effort

Correct Answer: A foolish, unprofitable adventure
Candidate Answer: A foolish, unprofitable adventure

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Smell a rat

Options:

1) Detect bad smell

2) Suspect a trick or deceit
3) Misunderstand

4) See hidden meaning

Correct Answer: Suspect a trick or deceit
Candidate Answer: Suspect a trick or deceit

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A live wire

Options:

1) Industrious and brilliant
2) Lively and active

3) Sincere and intelligent
4) Sincere and efficient

Correct Answer: Lively and active
Candidate Answer: Industrious and brilliant

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The ceremony of crowning a sovereign
Options:

1) Felicitation

2) Promotion

3) Coronation

4) Installation

Correct Answer: Coronation
Candidate Answer: Coronation

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

One who tends to patronize, rebuff or ignore people regarded as social inferiors and imitate, admire people regarded as social superiors
Options:

1) Snob

2) Fob

3) Dandy

4) Freak

Correct Answer: Snob
Candidate Answer: Freak

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A room where dead bodies are kept until burial
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Options:

1) Grave

2) Cemetery

3) Mortuary

4) Pyre

Correct Answer: Mortuary

Candidate Answer: Cemetery

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Any able-bodied man is eligible for the job.
Options:

1) Each able-bodied man is

2) Any able-bodied men have been

3) Any able-bodied men are

4) No improvement

Correct Answer: No improvement

Candidate Answer: Each able-bodied man is

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She found a wooden broken table in the room.
Options:

1) wooden and broken table

2) broken wooden table

3) broken and wooden table

4) No improvement

Correct Answer: broken wooden table

Candidate Answer: broken wooden table

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The truck rumbled to a halt and a man got out and ran.
Options:

1) shrieked at

2) screeched to

3) screamed at

4) No improvement

Correct Answer: screeched to

Candidate Answer: No improvement

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The Professor asked the intruder who was he and why was he in his lecture.
Options:

1) who he was and why he was

2) who he was and why was he

3) who he had been and why he had been

4) No improvement

Correct Answer: who he was and why he was

Candidate Answer: who he was and why he was

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

My uncle goes to office on bicycle or by foot.
Options:

1) by bicycle or by foot

2) by bicycle or on foot

3) on bicycle or on foot

4) No improvement

Correct Answer: by bicycle or on foot
Candidate Answer: No improvement

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

We set out for the gallows. Two warders marched on either side of the prisoner, with their rifles at the slope; two others marched close against him, gripping him by
his arm and shoulder, as though, at once pushing and supporting him. The rest of us, magistrates and the like, followed behind. Suddenly, when we had gone ten
yards, the procession stopped short without any order or warning. A dreadful thing had happened - a dog, come goodness knows whence, had appeared in the yard.
It came bounding among us with a loud volley of barks, and leapt round us wagging its whole body, wild with glee at finding so many human beings together. It was
a large woolly dog, half Airedale, half Pariah. For a moment, it pranced round us, and then, before anyone could stop it, it had made a dash for the prisoner, and
jumping up tried to lick his face. Everyone stood aghast, too taken aback even to grab at the dog.

What was the tone of the essay at the beginning?
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Options:

1) Celebrative

2) Emotionally charged
3) Gloomy

4) Light-hearted

Correct Answer: Gloomy
Candidate Answer: Gloomy

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

We set out for the gallows. Two warders marched on either side of the prisoner, with their rifles at the slope; two others marched close against him, gripping him by
his arm and shoulder, as though, at once pushing and supporting him. The rest of us, magistrates and the like, followed behind. Suddenly, when we had gone ten
yards, the procession stopped short without any order or warning. A dreadful thing had happened - a dog, come goodness knows whence, had appeared in the yard.
It came bounding among us with a loud volley of barks, and leapt round us wagging its whole body, wild with glee at finding so many human beings together. It was
a large woolly dog, half Airedale, half Pariah. For a moment, it pranced round us, and then, before anyone could stop it, it had made a dash for the prisoner, and
jumping up tried to lick his face. Everyone stood aghast, too taken aback even to grab at the dog.

How did the arrival of the dog change the atmosphere of the event?
Options:

1) It caused the people to scatter

2) It allowed the prisoner to escape

3) It saddened the prisoner even more

4) It stunned everyone present there

Correct Answer: It stunned everyone present there
Candidate Answer: It stunned everyone present there

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

We set out for the gallows. Two warders marched on either side of the prisoner, with their rifles at the slope; two others marched close against him, gripping him by
his arm and shoulder, as though, at once pushing and supporting him. The rest of us, magistrates and the like, followed behind. Suddenly, when we had gone ten
yards, the procession stopped short without any order or warning. A dreadful thing had happened - a dog, come goodness knows whence, had appeared in the yard.
It came bounding among us with a loud volley of barks, and leapt round us wagging its whole body, wild with glee at finding so many human beings together. It was
a large woolly dog, half Airedale, half Pariah. For a moment, it pranced round us, and then, before anyone could stop it, it had made a dash for the prisoner, and
jumping up tried to lick his face. Everyone stood aghast, too taken aback even to grab at the dog.

What was the emotion displayed by the dog?
Options:

1) Fear

2) Joy

3) Anger

4) Alarm

Correct Answer: Joy

Candidate Answer: Fear

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

We set out for the gallows. Two warders marched on either side of the prisoner, with their rifles at the slope; two others marched close against him, gripping him by
his arm and shoulder, as though, at once pushing and supporting him. The rest of us, magistrates and the like, followed behind. Suddenly, when we had gone ten
yards, the procession stopped short without any order or warning. A dreadful thing had happened - a dog, come goodness knows whence, had appeared in the yard.
It came bounding among us with a loud volley of barks, and leapt round us wagging its whole body, wild with glee at finding so many human beings together. It was
a large woolly dog, half Airedale, half Pariah. For a moment, it pranced round us, and then, before anyone could stop it, it had made a dash for the prisoner, and
jumping up tried to lick his face. Everyone stood aghast, too taken aback even to grab at the dog.

What was surprising about the actions of the dog?
Options:

1) It ran up and down the path

2) It bit the guards

3) It barked at the magistrates

4) 1t licked the prisoner's face

Correct Answer: It licked the prisoner's face

Candidate Answer: It licked the prisoner's face

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

We set out for the gallows. Two warders marched on either side of the prisoner, with their rifles at the slope; two others marched close against him, gripping him by
his arm and shoulder, as though, at once pushing and supporting him. The rest of us, magistrates and the like, followed behind. Suddenly, when we had gone ten
yards, the procession stopped short without any order or warning. A dreadful thing had happened - a dog, come goodness knows whence, had appeared in the yard.
It came bounding among us with a loud volley of barks, and leapt round us wagging its whole body, wild with glee at finding so many human beings together. It was
a large woolly dog, half Airedale, half Pariah. For a moment, it pranced round us, and then, before anyone could stop it, it had made a dash for the prisoner, and
jumping up tried to lick his face. Everyone stood aghast, too taken aback even to grab at the dog.

How did the author respond to the appearance of the dog?
Options:

1) He jumped at the dog and collared it

2) He ignored the dog and pretended it was not there

3) He was taken aback as the others

4) He yelled at the dog to silence its barking

Correct Answer: He was taken aback as the others
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